String lines up with
third notch.
String is level.

Elevation change = 0 inches

Distance between poles = 10 feet (120 inches)

String is secure to
third notch.

% slope = (change in elevation/horizontal distance) x 100
% slope = (0/120) * 100
% slope = 0 - Flat slope

Ground

String lines up with
fourth notch.

JINIRNRARARERERRPRENE

third notch.
Ground

Measure the horizontal distance between poles using a tape
measure and level. This is the horizontal distance. In this
example, it is 10 feet or 120 inches.

String is secure tO
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Elevation change: The string had to be moved 6 inches

% slope = (change in elevation/horizontal distance) x 100

% slope = (6/120) *100

Slope = 5 %

A 5% slope is a slope that rises or falls 5
feet for each 100 feet of length.



